Honors Math II
Unit 4 day 1 Graphing Parabolas

Name Key

) 7
Period Date

Graph the following Parabolas. Find the indicated information:

1. y=3x?—-6x+4

Vertex: (1,1)

Max or(@in: )

Interval of increase or decrease:
decrease ;. (-ao, |
increase. [1,00)
End behavior:
X -0 YD 00

X2 oo y-=>aw

2. y=3(x—72—-1
Vertex: (71,-1)
y-intercept: (O, 14l)
Domain: T

Range: 8 2> =

PN

3. y= —(x+1D(x-3)
Vertex: ([, Y)

“Max or Min:

x-intercept(s): (-1,0) (3, 0)

y-intercept: (O : 6)

4. f=2(x-5@x-1)
Vertex: (3,-8)

Max oxMin:)

x-intercept(s): (5,0) (1,0)

y-intercept: (o’ (o)

{

5 f(x)= —2x*—-6x—3

Vertex: (-1.S, (-5

Max br Min:

Interval of increase or decrease:
increase .

Aecrease. L \.5, <o)
End behavior:

X -00 £ -00
X> 00 L£L0)> -

(-oc0, ~\.6(

6. y=—-4(x—2)2+9
Vertex: (9 ‘ch
y-intercept: [ 0'—"0
Domain: TP

Range: {, 00 )0‘]




7. y=2(x+2)(x—6)

Vertex: (2,-32)

Max o

x-intercept(s): (2.0 (b,0)

y-intercept: (o, - 24)

8. f(x) = 4(x -7 (x+2)
Vertex: (2.5, —31)

Max oxMin:)

x-intercept(s): (7,0) (-2,0)

y-intercept: (0,-56)

9. y= —(x—2)?

Vertex: (2,0)

;@r Min:

Interval of increase or decrease:
increase . (-0, 2]

decrease: [2,00)
End behavior:

X> - Y>-00

X2 oo y-=> -0

10. f(x)= x?2-6

Vertex: ( 0,-lb)

Max or

Interval of increase or decrease:
decrease: (-0, 03

increase, Co,q0)
End behavior:

- 0NV
x> a FOH>©

1. f(x)= sx*+x-3
Vertex: C—l,'3.5>
y-intercept: (0’-3>
Domain: =

R : .

ange E 3.5'00>

12. y= §(x+1)2—6
Vertex: (-, -b)
y-intercept: (O) '17/3>
Domain: {2

Range: ‘j?- ",1
3




13. y=x+3)(x—-3)
Vertex: (0, —q>

Max or
x-intercept(s): (-3,0 (3,0)

y-intercept: (¢ -q")

14. f(0) = 2(x+2)(x + 6)
Vertex: (-4,-8)

Max of Min:

x-intercept(s): (-2.0) (-, 0)

y-intercept: (O 2 )

15. y= —(x+4)?*+ 7

Vertex:  (-y,-)

r Min:
Interval of increase or decrease:
ncrease. (-0 ,-4]

decrease’ [-4,00)
End behavior:

X=>-00 Y>-oo
AP Q0 Yp =00

16. y = —4x*+8x+2
vertex: (],l)

é gax or Min:

Interval of increase or decrease:
Increase: (-90, (]

decrease. [ 1, o0)
End behavior

XD - 00 LN -00
X> a §foo)>-©

17. y=2(x—4)(x+6)
Vertex: C—\ ; -50/ 3}

Max 0@

x-intercept(s): CL\, 65y (=l;0)

y-intercept: { B ) -\ (’3

18. y=—-(x+2)*+5

Vertex: (-2,5)

ax or Min:
Interval of increase or decrease:

ncrease: (-0, '2]

Aecrease C’Z, .cO}
End behavior

X=>-90 Yy-=»-9°

X-> 3o sje-oo




Write the equation of the line given the following information.

19. m =0 and passes through (7, -2)
’
1

horizontal \ine

==

21. Passes through (4,—2) and (0, 4)

Y~0 4 2
--3 =
B“ E(X"-D 2 ov 3:‘%X+q

m= —2-_____.‘Ll ""(0:‘3

23. Perpendicular to the line y = éx + 6

and passes through (—2,4) m= -

Niw

9= "2 (x+2H+Y

20. Passes through (—1,—3) and (2, 7)
M= =31
—=\-2

-
e

3 3

\o - |o

Y= L%Cx-n)—?: or Y= 1% (x-2)+7

22. Parallel to the line 2x + 4y = 36 and passes

through (3, 4) t-hj: -2+ 3
= -Z
Y g * +9

y=-3 (x-2>+Y

24. Parallel toy = -3 and passes through (4, 5)

s
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